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QUESTION 1

Which statement is true regarding application containerization?

A. Application containerization requires the Linux operating system.

B. Application containerization provides increased portability.

C. Application containerization increases performance of virtual machines.
D. Application containerization is designed for massive data sets.

Correct Answer: B

QUESTION 2

Which management software allows you to provision Dynamic Disk Pools?
A. Element

B. SANtricity

C. StorageGRID

D. ONTAP

Correct Answer: B

QUESTION 3

What are two benefits of implementing NetApp Cloud Sync? (Choose two.)
A. to leverage native SnapMirror technology to retain storage efficiencies
B. to consolidate storage management into one administrative tool

C. to automate data migration processes, on-premises or to the cloud

D. to provide a secure data synchronization service

Correct Answer: CD

QUESTION 4
Which ONTAP-native encryption type is supported with Cloud Volumes ONTAP?
A.NSE

B. AES
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C. NVE
D. RSA

Correct Answer: C

QUESTION 5

Regarding system high availability, what is the reference used to determine reliability?

A. the amount of data available to users and how quickly they can access it, measured in IOPS
B. the number of hard drives available in a system, with more drives indicating more reliability

C. the number of data network components available between the data and the user, measured in packet per second
(PPS)

D. the number of nines; for example, two nines (99), three nines (99.9), four nines (99.99), and five nines
(99.999)

Correct Answer: D
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